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04 26s A 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=347.4
A2=5.08
A3=0.38=t
A6=672.2
A7=71.25
∆=12.21
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02 26s Y 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=236.5
A2=4.75
A3=0.42=t
A6=483.2
A7=37.75
∆=5.64
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log ∆L  Leuchtdichte-Diffenz-
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02 26s B 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=155.39
A2=4.89
A3=0.48=t
A6=368.1
A7=26.62
∆=0.406
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x=logL

02 26s R 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=278.9
A2=4.79
A3=0.48=t
A6=649.4
A7=25.23
∆=3.159
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log ∆L  Leuchtdichte-Diffenz-
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x=logL

AD 26s G 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=174.4
A2=4.14
A3=0.42=t
A6=307.2
A7=28.29
∆=3.772
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log ∆L  Leuchtdichte-Diffenz-
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04 0,1s A 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=96.74
A2=3.85
A3=0.59=t
A6=221.1
A7=9.71
∆=4.66
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02 0,1s Y 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=73.94
A2=3.91
A3=0.68=t
A6=199.0
A7=7.26
∆=2.226
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x=logL

02 0,1s B 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=49.15
A2=2.42
A3=0.73=t
A6=87.0
A7=3.36
∆=0.481
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x=logL

02 0,1s R 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=80.36
A2=3.85
A3=0.66=t
A6=206.2
A7=7.61
∆=5.889
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x=logL

AD 0,1s G 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=67.58
A2=3.41
A3=0.69=t
A6=159.7
A7=5.9
∆=1.367
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04 26&0,1s A 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=347.4
A2=5.08
A3=0.38=t
A6=672.2
A7=71.25
∆=12.21

A1=96.74
A2=3.85
A3=0.59=t
A6=221.1
A7=9.71
∆=4.66

UG221−4N_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle Lg=6,3cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

02 26&0,1s Y 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=236.5
A2=4.75
A3=0.42=t
A6=483.2
A7=37.75
∆=5.64

A1=73.94
A2=3.91
A3=0.68=t
A6=199.0
A7=7.26
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02 26&0,1s B 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=155.39
A2=4.89
A3=0.48=t
A6=368.1
A7=26.62
∆=0.406
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A2=2.42
A3=0.73=t
A6=87.0
A7=3.36
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02 26&0,1s R 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=278.9
A2=4.79
A3=0.48=t
A6=649.4
A7=25.23
∆=3.159

A1=80.36
A2=3.85
A3=0.66=t
A6=206.2
A7=7.61
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AD 26&0,1s G 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=174.4
A2=4.14
A3=0.42=t
A6=307.2
A7=28.29
∆=3.772

A1=67.58
A2=3.41
A3=0.69=t
A6=159.7
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04 26s A/B 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=347.4
A2=5.08
A3=0.38=t
A6=672.2
A7=71.25
∆=12.21

A1=155.39
A2=4.89
A3=0.48=t
A6=368.1
A7=26.62
∆=0.406


